
IQR = middle 50% 

             

 

 

 

 

 

 

 

 

 

 

            0.15%    2.35%   13.5%    34%       34%    13.5%   2.35%   0.15% 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

       



 

 

 

 

            IQR is Q3 – Q1 

         25th percentile ----| 

       ---- 50th percentile ---------| 

      ------  75th percentile --------------| 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

EX  = 120  Using empirical rule: what range is 95% 

       = 6.5    95% is 2 standard deviations 
    left:  120 – 6.5 – 6.5 = 107    right: 120+6.5+6.5=133 

      Range is 107 to 133 

 

 


